SAMPLE MDAR CORE LICENSE, APLICATOR EXAM PRACTICE QUESTIONS FROM THE CORE MANUAL
(NOTE – These are not the actual test questions, nor are they intended to be. These are practice questions that cover content the real questions are likely to ask about.)

CHAPTER ONE  

1. Pesticide use includes _________________
(a) the actual application of a pesticide

(b) mixing the pesticide to the end use dilution

(c) mixing, applying and transporting pesticides

2. Repellents are ______________
(a)  not considered a pesticide

(b)  kill on contact

(c)  don’t kill anything

3. IPM is an approach to pest management that ___________
(a)  combines all available necessary techniques

(b)  excludes the use of pesticides

(c)  usually involves greater expense

4. Which document would you find the best information on how a particular pesticide is used and applied?

             (a) label

             (b) labeling

                   (c) MSDS

CHAPTER TWO

5. Which of the following would not be considered a pest related problem?

                  (a) structural and property damage
                  (b) health & environmental risks and impaired function of things we use
                  (c) illegible pesticide labels and leaking containers 
6. Which of the following would be vertebrate pests?

(a) Ants and termites

(b) Rats and mice

(c) Bed bugs and flies

7. Pests need _________________ in order to survive

(a)  food, water, shelter and harborage

(b)  dark spaces and moderate temperatures

(c)  sunlight, moderate rain and low wind conditions

8. Metamorphosis is _______________
      (a) the process describing how rats and mice grow

      (b) the process describing how snails and slugs grow  

                  (c) the process describing how roaches and other insects grow

9. Pests can cause many different kinds of damage. Which of the following would not be considered a type of problem pests could cause?
            (a) structural damage, property damage, health risks

                  (b) food concerns, health risks, high expense

      (c) environmental risks, reduced aesthetics, impaired functions of things we   

                 use 

10. In insect metamorphosis, which stage can reproduce?


      (a) egg

                  (b) larvae, or nymph

                  (c) adult

11. Adult spiders, ticks, centipedes and millipedes __________

             (a) have three pair of legs and three distinct body segments
             (b) have a head that bears mouthparts, eyes and antennae

             (c) are not considered insects

12. A pathogen is _______________

              (a) something bad

              (b) a disease-causing organism

              (c) an organism found on paths

13. Mouthparts vary among insect groups so you can _______________
              (a) tell insects apart

              (b) identify a pest insect and the sort of damage it does

              (c) identify what kind of food each likes to eat 

14. The varroa mite is a serious pest in _________


         (a) homes

                     (b) greenhouses growing ornamentals (flowers)

                     (c) honeybee colonies

15. Nematodes  _____________

               (a) are sometimes found infesting homes

               (b) can be parasites of pets and livestock
               (c) are relatively easy to control

16. Which of the following are the smallest pests?
               (a) algae

               (b) woody weeds

                     (c) microorganisms like fungi and bacteria 
17. The terms annual, biennial and perennial refer to different  

            (a) processes describing how grass grows

            (b) processes describing how trees grow  

                  (c) processes how plants grow

18. The term instar refers to ____________________

            (a) insects shedding (molting) their exoskeletons

            (b) a certain stage of plant growth (particularly weeds) 

                  (c) a type of insect mouthpart           

CHAPTER THREE

19. Which of the following terms refer to mode of action ?

(a) acute and multi-dose

(b) broad spectrum and selective

(c) the way a pesticide acts

20. If hormones regulate growth and development, what do pheromones do?

(a) regulate reproduction

(b) represent a means of communication

(c) influence the color and size of insects

21. Which of the following types of pesticide would provide long lasting control?

(a)  Nonresidual
(b)  Residual

(c)  Contact

22. A selective herbicide kills _____________ 
(a)  some plants but not others
(b)  any plant it comes in contact with
                   (c) only herb plants

23. A non-selective (broad-spectrum) herbicide kills __________________

(a)  all broadleaf plants

(b)  monocots and dicot plants      

(c)  any plant it contacts
24. An acute rodenticide will kill _____________

(a)  cute rodents

(b)  after repeated doses

(c)  after a single dose

25. Anticoagulant rodenticides  _____________

(a) 
tend to be less toxic to children and pets

(b)  are considered safe

(c)  are more likely to cause rodents to avoid that bait 
26. Pesticide impregnated materials include _____________

(a)  treated seed, flea and tick collars

(b)  treated lumber

(c)  both a & b above

CHAPTER FOUR

27. A carrier could be a  

            (a) Ford Ranger of Dodge Ram vehicle

            (b) suspension or emulsion

            (c) solid, liquid or gas

28. When active ingredients are mixed with inert ingredients the end result is called ___

                  (a) a compatible mix, or combination
                  (b) an incompatible mix, or combination

                  (c) a formulation
29. Chemical names and common names ______________

                  (a) may refer to the same compound

                  (b) refer to different active ingredients 

                  (c) refer to different formulations 

30. The terms solution, suspension and emulsion refer to different __________
            (a) types of solid formulations

                  (b) types of liquid formulations
                  (c) types of pesticide products used in apple orchards & greenhouses

31. Baits, dusts, granules, ECs and WPs are examples of ______________
(a) different pesticide products

(b) different pesticide formulations

(c) different pesticide common names

32. RTU formulations ________

(a) require no dilution before application

(b) require special licenses in order to legally apply them

(c) are more often than have high toxicity

33. The initials ULV stands ____________________

(a) unacceptably low vapor (pressure)

(b) ultra low vapor (pressure)

(c) ultra low volume

34. Which of the following formulations is ready to use, usually contains less than 10% a.i., and involves a very fine inert ingredient like talc, clay, nut hulls or volcanic ash?
(a) Granules
(b) Baits

(c) Dust

35. Which of the following formulations involves a gas?

(a) Microencapsulation

(b) Fumigant

(c) Aerosol

36. Surfactants, stickers, extenders, buffers, drift additives and foaming agents are _____

(a) examples of different types of active ingredients

(b) examples of solid inactive ingredients

(c) examples of adjuvants

37. It’s rare that a pesticide product formulation contains only ________________

(a) inert ingredients

(b) adjuvants 

(c) active ingredients (a.i)   

CHAPTER FIVE

38. Pesticide risk and toxicity __________________
(a) mean different things to different people

(b) refer to the same pesticide characteristics

(c) confusion can actually lead someone away from choosing the safest pesticide alternative

39. Toxicity is a measure of pesticide’s ability to _______________ 

(a) cause harm

(b) kill insects

(c) kill vertebrate organisms


40. Is it possible a highly toxic pesticide can be low risk at the same time?

(a) Yes

(b) No

(c) Depends on the pesticide SDS value 

41. A person’s weight, age, gender, health status and the surrounding environment ___

(a) influence the level of risk to different individuals

(b) influence the level of toxicity to different individuals

(c) influence the type of pesticide formulation to different individuals 

42. Pesticides can enter the body causing someone to become poisoned by ___________
(a) eating, drinking or breathing 

(b) mishandling

(c) not washing hands

43. Exposure occurs when pesticides enter the body. Which of the following is not a type of pesticide exposure?
(a) Acute

(b) General

(c) Chronic

CHAPTER SIX

44. Pesticide exposure (poisoning) effects can be ___________
(a) reversible

(b) irreversible

(c) reversible or irreversible

45. LC50 and LD50 are ___________  
(a) references to toxicity and risk

(b) ways of measuring risk

(c) ways of measuring and comparing toxicity

46. LC50 and LD50 measure which toxic effect?
(a) death

(b) chronic poisoning effect

(c) acute poisoning effect 

47. The signal words DANGER, WARNING and POISONING ____________
(a) let the user quickly assess relative toxicity

(b) refer to whether products have acute or chronic risks

(c) may or may not appear on certain labels

48. Which signal word represents a moderately toxic pesticide? 

(a) Danger

(b) Warning

(c) Caution

CHAPTER SEVEN
49. Cholinesterase is ______________
(a) a low toxicity pesticide used in agriculture

(b) a nerve enzyme necessary for life
(c) an ingredient in some pesticide mixes

50. Most potential pesticide applicator exposure involves the _________
(a) the skin

(b) eyes

(c) lungs

51. Which of the following would not be considered PPE?

(a) Clothing

(b) Gloves and respirators

(c) Application devices and mix tanks

52. Which of the following materials represent the least chemically resistant to pesticide exposure?
(a) Cotton and leather 

(b) Rubber and plastic 

(c) Glass and metal

53. Positive and negative pressure checks refer to ________________
(a) personal protective equipment

(b) respirators

(c) certain types of gloves

54. Facial hair can ______________

(a) prevent proper safety google use

(b) prevent proper noise protection use

(c) prevent proper respirator use  

55. PPE required for a particular pesticide’s use can be found ________

(a) by contacting the manufacturer

(b) by contacting MDAR

(c) by referring to the label 

56. Work clothes should be _________________

(a) laundered weekly

(b) laundered using hot water

(c) laundered separately from family clothing

CHAPTER EIGHT
57. The first step in any pesticide poisoning is to ____________
(a) call for medical assistance

(b) provide fresh air and water

(c) remove the person from the exposure situation and begin first aid
58. Vomiting is always induced using an emetic when a poisoning victim has ingested a poison.

(a) True

(b) False

(c) and the pesticide involved is a liquid

59. Even when applying first aid to poisoning victims you should ______

(a) seek medical help as soon as possible
(b) get the victim to fresh air

(c) get the victim fresh, potable water

CHAPTER NINE 

60. Wearing PPE and working in heat can lead to  ____________
(a) poor results from incomplete treatment

(b) heat illness

(c) dehydration

61. Factors that can increase risk of heat stress include _________________

(a)  temperature, humidity, and /or amount of sunlight increase

(b)  work load, ppe use, water intake
(c) both a & b
CHAPTER TEN
62. Match the word on the left to the correct definition on the right

(1)  adsorption


(a) water movement through the soil

(2)  absorption


(b) pesticides ability to dissolve in a solvent

(3)  leaching 


(c) pesticides ability to bind to soil particles

(4)  solubility


(d) pesticides ability to be absorbed by an animal or plant

63. A pesticide capable of causing injury to a plant is called ______________
(a) plant poisoning

(b) phytotoxic

(c) photodegraded

64. The environment  ________________

(a) includes the air and water

(b) includes the plants, fish and animals

(c) includes everything that is around us

65. Which of the following does not refer to how pesticides may move in the environment?

(a)  Drift
(b)  Runoff

(c)  Spraying

CHAPTER ELEVEN

66. Which of the following describes the overall geologic formation from which groundwater can be drawn? 

(a) water table

(b) aquifer

(c) bed rock

67. Point-source source pollution differs from non-point source pollution ______
(a) as it’s easier to define and locate

(b) because it usually involves liquid concentrates

(c) as it usually involves smaller volumes of pesticides   

68. The water table is __________________

(a) the table where water is served 

(b) the boundary between the saturated zone and the unsaturated rock and soil

(c) the overall geologic formation from which ground water may be drawn

69. Which of the following is not a way of preventing back-siphoning?

(a) air gap

(b) compressed air sprayer

(c) check valve

CHAPTER TWELVE

70. What is the inherited ability of a pest to avoid the toxic effects of a particular pesticide?

(a) persistence

(b) resistance

(c) insensitivity

71. Pests with shorter life cycles have ______ ability to develop ________ .

(a) less  -   fewer young

(b) greater  -  resistance

(c) an average  -  resistance

72. Resistance management  ___________________________

(a) is best practiced when the same pesticides, or class of pesticides are continuously used
(b) attempts to prevent, delay, or reverse the development of resistance

(c) avoids using IPM practices whenever possible

CHAPTER THIRTEEN

73. Scouting and trapping are techniques commonly used to ______________
(a) kill pests

(b) establish injury levels

(c) monitor for insects and their activity

74. Cultivation, exclusion, trapping, cultural practices and sanitation are examples of ___
(a) killing methods

(b) safe methods

(c) methods of pest management

75. The economic threshold in IPM _________________________

(a) is when the population density at which control measures are needed to prevent the pet from reaching the economic injury level
(b) is when the cost to control a pest exceeds $1000 per acre

(c) is when the cost to control a pest exceeds $500 per acre   

76. The economic injury level ______________________________

(a) is when the cost to store and transport a product exceeds the cost to produce that product

(b) is when the harm caused to certain plans exceeds their cost

(c) is when the pest population density that causes losses is equal to the cost of control measures  
77. Action thresholds ____________________________________

(a) are more appropriate outside for agriculture
(b) are the pest levels at which control is warranted for reasons other than just economic

(c) both a & b above are true 

78. Quarantine is when ____________________________

(a) illnesses are isolated in plants and animals

(b) inadvertently transporting pests from infested to un-infested areas is prohibited
(c) individuals’ are isolated to prevent becoming infested

79. Eradication is when ___________________________

(a)  targeted areas are treated to prevent spreading plant disease

(b)  all possible treatment options are considered

(c)  total elimination of a pest from a designated area is attempted

CHAPTER FOURTEEN

80. Section 3, Section 24(c), Section 18 and Section 25(b) are examples of  ____
(a) different types of facility registrations under FIFRA

(b) different types of pesticide registration classifications under FIFRA

(c) different types of applicator type registrations in Massachusetts

81. A private applicator is one ____
(a) who uses or supervises pesticides in home, apartments and condominiums

(b) who uses pesticides on a farm

(c) who has the ability to operate as a commercial applicator if necessary

CHAPTER FIFTEEN

82. A tolerance is ____________________________________

(a) The maximum amount of reside that may legally remain on or in food or feed when the crop, animal or animal product is ready for market

(b) pesticide that remains on crops after treatment

(c) the amount of pesticide that will not cause injury when consumed

83. The terms residue and deposit ______________________________

(a) mean the same thing after a pesticide application

(b) mean different things

(c) are equally illegal and dangerous after an application

84. The FQPA requires _________________________________

(a) food and quality be protected

(b) the states have local rules/regulations that protect food and quality for the sake of children

(c) EPA conclude with reasonable certainty that no harm will come to infants, children or other sensitive individuals exposed to pesticides

78 Which law governs the establishment of pesticide tolerances for food and feed 

      products?

(a) FIFRA

(b) FFDCA

(c) Chapter 132B

CHAPTER 16

85. Which government agency regulates pesticide use in Massachusetts?

(a) Mass Department of Agricultural Resources

(b) Mass Department of Environmental Protection

(c) Mass Department of Public Health

86. Which of the following describes the pesticide rules and regulations we must follow here in Massachusetts?

(a) Chapter 132B

(b) 333 CMR 

(c) 190 CMR

CHAPTER SEVENTEEN

87. The recommended temperature range to store and hold pesticides is _______
(a) 0 to 40 degrees F

(b) 40 to 100 degrees F

(c) 100 to 120 degrees F 

88. A bulk pesticide container is one that ______________
(a) holds greater than 5 gallons of liquid or 15 pounds of a solid

(b) holds greater than 25 gallons of liquid or 30 pounds of a solid

(c) holds greater than 55 gallons of liquid or 100 pounds of a solid

89. A service container _______________________________

(a) is any container other than the original manufacturer’s container designed to hold pesticide concentrate or diluted pesticide

(b) is a container designed to hold smaller quantities than the original container

(c) is the container applicator’s may take into the field, or out on a job

90. Rinsate is _____________________________________

(a) water used to wash out liquid, and sometimes dry pesticide containers
(b) dilute pesticide from rinsing pesticide containers or washing application equipment

(c) water taken from outside hoses used to clean out equipment

CHAPTER EIGHTEEN

91. The definition of pesticide use includes ______________
(a) manufacturing

(b) distribution

(c) transportation

92. Three sources of risk of accidents that could result in pesticide spills onto public roads are ___________________________
(a) Leaking containers, mislabeled containers and frozen/overheated containers

(b) Poor tires, breaks and inoperable turn signals

(c) Hazardous driving conditions, the driver (you) and the vehicle

CHAPTER NINETEEN
93. Pesticide security means _____________
(a) using the safest, least toxic products whenever possible

(b) protecting people and the environment from inadvertent pesticide exposure

(c) following IPM practices
CHAPTER TWENTY

94. Farms that store oil (including any oil such as diesel, crop oil concentrate and horticultural oil pesticides) in total quantities greater than 1,320 gallons in above ground tanks (but only those having a capacity of 55 gallons or more) or more than 42,000 gallons in completely buried tanks must ____________
(a) have a vegetation management plan

(b) have an SPCC plan

(c) be registered per SARA TITLE III

95. The LEPC administers _____________ at the state level.
(a) the SERC

(b) the LEPC

(c) the Federal Emergency Planning and Community Right-To-Know Act
96. The “4Cs” needed to deal with a pesticide spill are _____________________

(a) Cooperate, Create, Coordinate and Capitalize

(b) Control, Contain, Contact and Clean

(c) Camera, Cost, Capture and Cap 

CHAPTER TWENTY ONE

97. Band, basal, broadcast, crack and crevice, tree injection, spot and space are examples of _____


       (a) different agricultural methods of application

(b) examples of common application methods  

(c) examples of different nozzle spray patterns

98. Nozzles ______________________________

(a) are an important part of sprayers and spray systems

(b) can be made of brass, aluminum or stainless steel, depending on their intended use

(c) control the amount of material applied, the formulation of droplets and their size and distribution of the droplets 

99. The terms flat, even, flooding, cone and multi-pattern refer to _______________

(a) methods of application

(b) equipment used for certain types of pesticides

(c) different nozzle spray patterns

100. Which of the following application devices are normally applied at high pressure ranging up to 100 psi?  

(a)  Truck mounted air blast sprayers

(b)  compressed air sprayers

(c)  backpack sprayers

101. Wettable powder and dry flowable formulations work best with __________
(a)  nozzles made from stainless steel
(b)  nozzles made from brass

(c)  nozzles made from aluminum

102. Low-pressure boom sprayers ___________________

(a) are light weight, relatively inexpensive and can adapt for many uses

(b) can cover large areas quickly and use low volumes of sprays

(c) both a & b above

103. Low-pressure boom sprayers ____________________

(a) generally apply at low pressures of 10-40 gallons per acre

(b) are not effective to penetrate dense foliage

(c) both a & b above

104. High pressure boom sprayers _____________________

(a) are heavy and tend to cost more than low-pressure boom sprayers

(b) are effective in treating dense vegetation and through heavy canopies  

(c) both a & b above

105. Engineering controls for applicator safety __________________________
(a) are devices which reduce pesticide applicator exposure associated with pesticide applications

(b) are manufactured under sterile and super clean conditions to prevent contamination

(c) both a & b above

106. Compressed air sprayers are most effective ___________________

(a) applying large volumes of pesticide

(b) applying small volumes of pesticide

(c) when used for agricultural  uses

100. Rotary and drop spreaders are used ________________________

                  (a) to apply water dispersable granules

                  (b) to apply dry granules
                   (c) to apply wettable powder products

CHAPTER TWENTY TWO

101. Drift occurs when _________________________________ 

(a) the wind exceeds more than 20 mph
(b) air currents exceed the wind speed 

(c) air currents cause pesticide to be deposited outside the target application site
102. Overspray occurs when _____________________________

                  (a) pesticide is directly applied outside the target area

                  (b) too much pesticide is applied

                  (c) liquids are mixed incorrectly and misapplied

103. Factors that affect drift include _________________________

                  (a) droplet size, wind speed, temperature and humidity

                  (b) tractor speed, type of nozzle used and formulation

                  (c) neither of the above 

104. A temperature inversion is when _______________________

                 (a) the soil and/or crop surface temperature exceeds 85 degrees

                 (b) a layer of warm air is sandwiched between layers of cold air

                 (c) wind speeds usually exceed 20 mph

105. Droplet size is the most important factor affecting the potential for spray drift. 

        Which of the following factors affect droplet size?
(a) Spray pressure, nozzle & spray rate 

(b) Formulation, mix tank & type of tractor

(c) Spray equipment, temperature and wind

 CHAPTER TWENTY THREE

106. Which of the following are steps to take before an application?

(a) prepare to respond in case of a pesticide spill or accident

(b) read and understand the label
(c) both a & b
107. Which of the following applications would not be covered by the WPS?

(a) dust, granule and pellet applications indoors

(b) air blast spraying in an apple orchard

(c) aerial spraying in a cranberry bog

108. The typical REI under the WPS typically lasts ___________________ 

                  (a) from one to two days

                  (b) from 1-2 hours

                  (c) from 4-96 hours

CHAPTER TWENTY FOUR
109. Calibration is _______________
(a) figuring out how much pesticide to apply

(b) measuring the delivery rate of application equipment

(c) determining the amount of pressure in application equipment

110. Changing the speed of the sprayer (such as a tractor) or walking speed when using a 
        hand sprayer

(a) can adjust the spray rate

(b) can affect the level of control

(c) can help avoid misuse

CHAPTER TWENTY FIVE    (Math)
111. A pesticide contains 1 pound of active ingredient per gallon of concentrate and the 
       finished spray is mixed with two gallons of concentrate per 50 gallons of diluent.  

       How much concentrate per acre will be applied if the finished spray is applied at 25 
       gallons per acre?

(a) ¼ pound

(b) 1 pound

(c) ¾ pound

112. A 100 gallon tank with water is mixed with a pesticide that has 2 pounds of active 

        ingredient per gallon of concentrate. Two gallons of concentrate are mixed in the 

        tank to make the finished spray. If the finished spray is applied at 10 gallons per 

        acre, how much concentrate would be spread over each acre? 
(a) 16 ounces

(b) 8 ounces
(c) 6.4 ounces
113. How many square feet are in an acre?

(a) 1000

(b) 25,300

(c) 43,560

CHAPTER TWENTY SIX

114. When mixing pesticides in a spray tank, stand with your head _______
(a) off to the side

(b) not too far from the equipment opening to avoid over filling

(c) upwind of the equipment opening

115. Which of the following type of packaging has no risk of inhaling or contacting 
         undiluted pesticide, but must be kept dry?

(a) Water soluble packets

(b) Granules in a paper sack

(c) Bait trigger applicator

116. How many times do you rinse empty liquid pesticide containers to decontaminate 

        them?  

(a) 1X
(b) 3X

(c) 5X

117. Pesticides may be compatible or incompatible. Which of the following describes  

        incompatible pesticides?

(a) when pesticides are different formulations

(b) when pesticides are mixed without affecting each other

(c) when pesticides are mixed and result in problems

CHAPTER TWENTY SEVEN

118. Where can you find information on where to dispose of empty pesticide containers?

(a) by contacting MDAR or U Mass Cooperative Extension

(b) by contacting the local landfill or a local commercial disposal company

(c) on the label
119. When is a liquid pesticide container not considered hazardous waste?
(a) after it is empty
(b) after triple rinsing
(c) after being sanitized
120. Which of the following are not recognized methods of container disposal?

               (a) Recycle or bring to a hazardous waste collection drive
               (b) Return to dealer for reuse or refilling, or bring to an approved disposal site

               (c) Find a secondary use and return to service

121. Freezing can _________________  
               (a) extend the life of most liquid formulations

               (b) cause some liquid formulations to deteriorate

               (c) make diluting liquid formulations more difficult to mix   
CHAPTER TWENTY EIGHT

122.  Which of the following are not found on labels?
(a) active and inactive ingredients, along with percentages of each
(b) weather conditions that affect pesticide use and state registration status
(c) where the pesticide was manufactured 
123. Which of the following are sometimes not found on labels?
(a) protective clothing and safety equipment
(b) signal words

(c) use directions

124. Every pesticide is classified by EPA as __________

              (a) prohibited or illegal
              (b) allowed for use in specific states and jurisdictions

              (c) general use or restricted use

125. Which of the following label designations allows a pesticide product investigation to 

        be conducted if a particular pesticide may be adulterated, or otherwise unfit for sale?  

(a) EPA Reg no.

(b) EPA Est no.

(c) EPA SLN no.

126. There are four critical times when you should read the label. Which of the following 

        are not included in those four key times? 

(a) Before storing or disposal of unused pesticide and empty containers

(b) Before deciding which dealer is going to supply the pesticide products

(c) Before buying, mixing or applying a pesticide   

CHAPTER TWENTY NINE

127. An attractive nuisance ________________ 

(a) is a good looking, attractive vehicle

(b) usually involves children

(c) is something that usually only involves agricultural application equipment

128.  If you become involved with an alleged pesticide related problem you should

(a) deny liability

(b) correct inaccurate records to reflect proper use

(c) contact your attorney and your insurance company
129. Though not required by federal law ___________________

               (a) maintaining training records is a good idea

                  (b) keeping a discussion log is a healthy idea

               (c) using a cell phone or other recording device is a reasonable idea
`




130. Risk Communication. Which are the most desirable terms to use when referring to 

        Pesticide use? 
(a) Safe, safer, safe for children and pets and environmentally friendly.

(b) EPA and/or state approved, green or least toxic

(c) Reduced risk or less toxic

131. Cross contamination, which may damage the sites being treated, occurs when ____

                (a) application equipment is improperly used or maintained

                (b) a pesticide active ingredient or product gets unintentionally mixed with 

                     another

(d) strong winds are blowing and a pesticide moves off target
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